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Instructions : The question paper consists of five Sections. Each Section carries 40 marks.
Section — I is compulsory and contains twenty objective questions. Each carries
two marks (2x20=40). Sections — II to V contain two optional long descriptive
questions each. The candidate is required to answer one question from each Section.

fodar e o ot et i e 21 W @ve 40 st @ 81 gue -1 sifard €, fored
-3 I F 20 TS U § (2x20=40)| @B - ¥ V TH Yol GUs H
A-A s A -IwT I & et a TaE @ve # 4 T H SW oAl

%l

SECTION -1 (2x20=40)
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1. A persistent fall in general price level of goods and services is known as
(A) Disinflation (B) Deflation

(C) Stagflation (D) Depression
Teqait o FaETell & W g ®R A AR FREe S wer S 2|
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2. The book Planning Economy for India Was written by

(A) V.K.R.V.Rao (B) M. Visvesvaraya

(©) K.N.Rai (D) Manmohan Singh

@A) A Fo TR o T@ ® T Ty
(©) o T, T ©) WA &%

3. For a rural person, the minimum calorie needed to reach above poverty line is

(A) 2400 calorie (B) 2100 calorie

(C) 1800 calorie (D) 1500 calorie

T AT ARh B e Ya § IR T % fog smav o S ®
(&) 2400 FEd B) 2100 Fary
- (C) 1800 HART D) 1500 HART

4.  Which of the following best describes the labour force participation rate?
(A) The percentage of working-age population out of the total population
(B) The percentage of working-age population that is employable

(C) The percentage of working-age population that is employed or actively seeking
employment

(D) The percentage of working-age population that is a part of formal sector

freafeorfad # & HH, q0 T MEIGR  H1 H a1 0 Far 27
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FRBM Committee recommended centre debt to GDP ratio to be at
(A) 37 percent (B) 40 percent

(C) 25 pereent (D) 35 percent

'W—Mm%mﬁrgp_m‘qﬁtﬁm%ﬁtﬁifﬂﬁﬁﬁm%

(A) 37 wfara (B) 40 ufear
(€) 25 wfasa (D) 35 wfaurE

Who among the following used the term ‘Green Revolution® for increasing agricultural product
in India?

(A) Norman Borlang (B) M. S. Swaminathan
(C) Raj Krishna (D) R. K. V. Rao

q?

(A) AT e (B) UM, UH, FIHMATTA
(C) [IEIE!“]” (D) :ﬂ’Ru a;-- ?f.'.\ m

The fundamental cause for the collapse of the Bretton Woods system was
(A The liquidity problem (B)

the adjustment problem

(C) the confidence problem (D) All of these

AT G WOl & WA w1 e FRY I
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8. ‘Atmanirbhar Bharat' scheme focuses on which of the following?
(A)  Import substitution (B) Export industrialization
(C) Both (A) and (B) (D) Neither (A) nor (B)
‘et R A, Frafafaa § fr ) e Sgd w)d 27
(A) mara wioeamaa ®) frafa st
© @) R ®) = @) AW (A)TE (B)
(C)) Tenancy reform is related to
(A) Regulation of rent (B) Security of tenure
(C) Conferment of ownership rights (D) All of these
FEIHRT GIR FT Hele g
(A) oA & fafeeE | (B) WINAHRI TRET &
() @it st i gfe | D) T & "@
10. Which of the following is a tax exclusively imposed and collected by the States?
(A) Income Tax (B) Corporation Tax
(C) GST (D) Land Revenue
Wﬁ@ﬁ—mmﬁ%wﬁnﬁﬁmmaﬁ;wqﬁ%?
(A) TR B)
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=
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11, Mid-day meal, public distribution system, integrated child development schemes are

(A) Poverty alleviation approach B) Growth oriented approach

(C) Minimum basic need approach (D) None of these
W TRl S gt ®) fEme g

(©) A FEEQ s g () T A B0 A e

12. The Jharkhand Government has launched three employment schemes focusing on the long-
term goals of sustainable development and creating new assets in the State.

I Birsa Harit Gram Yojana (BHGY)
Veer Sahid Poto Ho Khel Vikas Scheme (VSPHKYVS)

IL
II. Nilamber Pitamber Jal Samridhi Yojana (NPJSY)
V.

Deen Dayal Upadhyay Grameen Kaushalya Yojana (DDUGKY)

A) LI, ®) I 1,1V

© ImL,1V,I ®) v, L I
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A LTI II B) I 11,1V
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13. Revamped Public Distribution System provides benefits to
(A)  Self-help groups (B) Cooperative societies
(C)  Remote and backward areas (D) Cities
AR st % T yomelt fpmar @ wew Rl @2
(A) @I HEEE wE (B) wgarl witfaar
©) IR R frs3 wms D) R
14.  What is the aim of Pradhan Mantri Samman Nidhi Yojana?
(A) Minimum income to the farmers (B) Pension to the farmers
(C) Irigation (D) Free electricity to the farmers
M G R A w1 See Ry
(A) Tramt =t =Eaw s ®) TREHm 1 dam
©) Ta=r3 ©) et =1 v el
2
15. Arrange the following sources of irrigation as per desc_e:ﬂing order of their irrigated areas.
I. Canals
. Wells & Tubewells
1. Tanks
Choose the correct options from the code given below :
(A) LI, @) I 1,1
(©) I, ILI D) L0
CCSME23 (19)/39 Contd.
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16. According to economic survey of Jharkhand, the GSDP at constant prices was estimated to
grow at the rate of _____ percent in financial year (2023-24) and at the rate of
percent in the next year (2024-25).
(A) 5-1and 57 B) 6-1 and 67
(C) 7-1and 7-7 (D) 8-1and 87

W@ﬁmﬁmﬁm%m@nmmmwaﬁmﬁ?ﬁua&
(2023-24) & SRie 3R e 9 (2024-25) H wfierd 1 e F T &
I ST AT |

(A) 513K 5.7 B) 6-1 3R 67
© 71 IR 7.7 ©O) 813K 87

17, Which is not a Kharif crop?

(A)  Jowar (B) Maize
(©)  Groundnut (D) Wheat
P-wh @i 1 wEa (R
(A) SR (B) HeFRT
O e ©) T
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18.  Which five-year plan focused on ‘Growth with social justice and equity
(A) Ninth Five-Year Plan B) Eighth Five-Year Plan
(C) Seventh Five-Year Plan (D)  Sixth Five-Year Plan
S W o A am A S EArd ¥ g fea W Hfga 917
(A) &l deaig ArsE ® SiLCiEC e RIEEl
(C) WTadl Y=Eia FreT (D) I GHaEid A
19. The standard of living in a country is represented by its
(A) Poverty Ratio (B) Per capita Income
(C) National Income (D) Unemployment Rate
et 3y # <fe =R w1 wfafaforer sak gy R S g
@A) TRt ST (B) wia =a1fth g
(C) TEH I D) SR &
20. Fiscal deficit of Jharkhand for 2024-25 is targeted at percent of GSDP.
(A) 3 ®B) 2
< 4 D) 5
A 2024-25 % ToIq ARGUE & TSR A1eT, Fehel T W, Ieq1E 7 Wiy
wfera fepam m 2|
3
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SECTION-II
wvs - 11

1. Distinguish between net product method and factor-income method of estimating national
income. Which of these methods are followed in India?

r@ﬂmwmﬂmﬁ%ﬁqg@mﬁrﬂﬁtmm-mﬁ%%ﬁa’m
‘/Waﬁﬁlﬁﬁ%ﬁ?—xﬁﬁfamﬁmaﬁ%?

OR / gt

“India is currently experiencing a demographic dividend.” Explain. Discuss challenges and risks

asssociated with this kind of demographic transition.

“Waﬁmﬁw@ﬁummwwmw%l”ﬁmﬁl EGl
f—

m%mﬁaﬁadwwﬁ@ﬁ%ﬁaﬁisﬁ%ﬁwaﬁﬁl 40

SECTION -1II
e - 111

2.  Describe the important characteristics of an underdeveloped economy. Do you consider
Indian economy an underdeveloped economy? Give reasons for your answer.

afrta e % weeq weml H1 AvH w1 T WRAE sefermen @
shrefg sdeEe A €7 9N S % HRU Sarg|

OR / 3qaT

What do you understand by inclusive growth? Critically examine the Government policies to
promote inclusive growth in India.

/maﬁﬁmamwm%?wﬁw&aﬁﬁmﬂﬁméﬁ%m
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s in Indian food security

Explain the concept of food security system. What are the flaw
programme? What policy measures have been undertaken by the Government to ensure food
security for all?

s #

@mgtwwﬁeﬁaama?rwlﬁmﬁv@wgtm
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OR / s¥=t

What do you mean by Foreign Direct Investment (FDI)? Briefly discuss the FDI policy and its

performances in India.

waﬁ%&ﬁﬁ%ﬂ%mww%?m?aﬁawaﬁ%aﬁﬁ%wﬁ’r%qa‘m
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SECTION-V
ges-V

Give an overview of industrial development in the State of Jharkhand since 1991. Discuss the
problems faced by the Industrial Sector in the State. ‘

< 1991 % @ & wRave wsd # sfeifis fiww w1 femde w) oS § s
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in Jharkhe hat steps have been (a
Explain the nature and causes of unemploymentin Jharkhand. VV(?'I p
‘ ment’
the Jharkhand Government to solve the problem of unemploy . )
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